6. An instrument for measuring the speed of

7. After Gupta dynasty, in the middle of

18 (1) (M10) _
phagavad Gita was said to have been

" compiled by
(A) Shankaracharya (B) Madvacharya
(C) Veda Vyasa (D) Vallabhacharya

What is the nature of the image formed due
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted
(B) Virtual and erect
(C) Real and erect
(D) Virtual and inverted

During heavy exercise, we get cramps in
the legs due to the accumulation of

(A) Carbon dioxide (B) Lactic acid

(C) Alcohol (D) Water

Sodium hydrogencarbonate on heating
produces

(A) Sodium hydroxide

(B) Sodium oxide

(C) Sodium carbonate

(D) Sodium

The land cultivated by Kurus was called as
(A) Bahudhanyaka (B) Adiroopa
(C) Prajotpathi (D) Angeerasa

wind is

(A) Odometer
(B) Speedometer
(C) Anemometer
(D) Barometer

Sixth Century AD, established

supremacy over Punjab.
(A) Pallavas

" (B) Gujarat

(C) Kadambas

(D) Huns'

STe a%] 1 Fohal g & 1S T 9§ @
;ﬁ%ﬁ;ﬁw%maﬁaﬁuﬁrﬁaaﬁﬁ%
(&) dTEdTe 3R I
(B) ATt ST Hien
(C) aTEdfaeh SR e
(D) STt 3R Ie

Tl = & A, WA @@

" 3 g o 2

(A) T SEATHES (B) e 3
(C) ITealed (D) =i

Bfean BESHeRTE e TTH 3 W

| Seg e

(A) Gifea BTEgIHETES
(B) Hifean AETES

T I % 9, o7 i B3 Tl & A
 qorre W e eenfia foRam

(A) Ted :

®) T

(C) had

(D) §



11.

12,

13.

14,

[

the number which ig n

; ot |j
mong the options, tlike the other

(B) 1109
(D) 1110

o, Haryana is the first State to launch
(A) Satellite
(.5) Mahila Poljce Volunteer
(C) Kissan Budget
(D) Aryabhat

10. Consider the following with reference to the

term “Sovereign State”.

(A) A_Country can be a sovereign with or
without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
V5x? — 8x + 345 = 0 are

(A) \/5_% (B) 5,3
(C) 5,35 (D) 4,2

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Patna

Which of the following Article provides that,
‘The State shall not discriminate against

any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?

(A) 13 (B) 14
(C) 15 (D) 16

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People

10.

11.

12.

13.

14.

E—
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(A) 1001
(C) 1010

g &l

® gam@mmmmé
(c) aFiEElR
(D) IS e

J5x2 — 8x + 3y/5 = 0 FHIHT
(B) 5,3

3
(A) 5, N3

(C) 5,35 (D) 4,2

TR G, Fe ISR agaT TS

T Y9 o)

(A) T (B) T

(¢) i aeiq (D) &
frafofad & & HH-91 3Tg<e] TaUM Sl
® o5 o o, s, o, STfa, Seafd & &M
& IR 9T ferdt ATices ot siferd & s ?
(A) 13 (B) 14 -
(C) 15 () 16

TSI I T Tg@ o 9 5 1 a1 @ 3R
T S9ITE Y aredtoes wifqa 39t 3§ ffd @
(A) S (B) Tl

(€) geEHH (D) &
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Iy i

45. If ‘ONE’ can be coded as ‘34’ then TWO' | 15, ufy ‘ONE’ =1 R 34’ Gy TWO' kS
" can be coded as g
(C) 58 (D) 68 (C) 58 (D) 68
6. A current of 0.5 A is drawn by a filament 16. ﬁg-a : ﬁm’éa‘ e
! of an electric bulb for 20 minutes, find the E;ﬁ 0.5 A?f?’ggm Fﬁa—gag%zloqﬂqﬂ | e
amount of electric charge that flows through ﬁ‘@a '
the circuit. ’ A SIENED w1 %l
(A) 300 Coulomb (A) 300 o=
(B) 600 Coulomb (B) 600 et
(C) 2400 Coulomb @) 2400 FA=
(D) 20 Coulomb
(D) 20 %= =
17.  Readthe following statements with reference | 17. freiffad werdl H1 FIHR
to features of Kashmir Himalayas. farsrearedt & desd qfeg |
I. They are famous for Karewa formations. ]| 3 P
ii. Karewas are the thick d it ; ?{ﬁmaﬁﬁ fiiie 3 T AfHTeq
. Ick deposits . e oh a1
of glacial clay and other materials i, e , @ﬁq;m% |
embedded with moraines. 317 arelt i
ii. They are useful for the cultivation of i, A IR E IO F AU IR |
Zaffran. iv. o, e ofR e oY T S
iv. Srinagar, the capital city of the state b S %’waﬂ(@a 2
of Jammu and Kashmir is located on W
the banks of Jhelum River. IWHS ;\[ﬁq .
Select the answer code : (A) i, ii I jii (B) i, iii iv
(A) i, ii and iii (B) i, iii and iv iv e
(C) all the above (D) iii and iv only (C) S wft (D) iii 3R iv
18. All triangles are similar. 18. ft_ = DB unsIEd R |
(A) lIsosceles (A) Wﬁa@
(B) Equilateral (B) §HeTg
(C) Obtuse angled (C) ferewamror
(D) Right angled (D) wwHHIT
19. In2016-17, Haryana GSDP is growingat | 19. 2016-17 %, BRamoms GSDP
Wag W R
A) 6.7 percent '
A (A) 6.7 gfaw
(B) 7.6 percent ‘ (B) " 7.6 Wfasra
(C) 8.7 percent (C) 8.7 ufawm
(D) 10 percent (D) 10

eN=Ipl Vil INVobari= = (piekn)
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20.

21.

22.

23.

24,

lllﬂllilllllllllllllllllﬂ i
d

ude all the excise
oods. Findout the

oes not in
odsi;ties out of the following

Aviation Turb
Petroleum crude

iv. Motor spirit or petrol

v. Natural gas
Choose the right answer gi\'l'erlbelow :
(A) i, ii and iii (B) i, m and v
©) i, ii,iiiand iv (D) All the above

The equations ax + 9y = 1_and 9y-x-1=0
represent the same lineifa=

(A) 1 (B) -1
(C) 9 (D) None of these

Consider the following :
1. Sambhar lake is a salt lake.
2. Chilka lake is a fresh water lake.

3. Vembanad lake is a back water lake.

Which of the above is /are correct ?
(A) 1and2 (B) 1and 3
(C) Alitheabove (D) 3only

If m cot A = n, then the value of
msinA-ncos A is

NCosA +msinA

A) n? +m? ®) m? —n2
n-m n2_m2
2. .2 2

(e =N n?
e + 12 (D) m+m2

Haryana is situated between ,\

(A) 27°37' to 30° 35' North latitude
(B) 37°37' to 30° 35' North latitude
(C) 47°37' to 30° 35' North latitude

20.

21.

22

23.

24,
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ST & 2t syl ypeeanch agd i
81| i s e v o
T I Hifdr

R 1 e 2

il. ITIA TETH $ (ATF)

iil. = Y

iv. WX e @ R

v. WThfae g
ﬁﬁmwaﬁmgﬁq:

(A) i, ii 3R iii (B) i, iii 3T v
(C) i,ii,iii eMiv (D) Iaa @

FHIRTT ax + 9y =1 3R 9y —x -1 = 0 THH
WHEdeaRa=
(A) 1

€) ©

(B) -1
(D) T & %3 7

Frafefigs w femm =

1. TR 3 Savia gia © |

2. Tocw ofiw s ot <A =i Ry
3. duTe I uve 9ie 3 B

IR AT RA-TTER R ?

(A) 132 B) 133
(@) Iwws (D) ¥aw 3

T mcot A=n, @ MSINA-NCOSA
LICh ncos A +msinA

£

m? —n2
m —m?

n® +m?
n-m

A

®)

(©)

(A) 27°37' ¥ 30° 35' I A&
(B) 37°37' ¥ 30° 35’ It A&
(C) 47° 37" & 30° 35’ It &
(D) 57°37" ¥ 30° 35' I A&



27.

28.

29,

30.

' birthday of his son-

Mill
A) James
@ warren Hastings

() Sir Thomas Smith
(D) Annie Besant

f girls. He gave
han the number O :

}215,6?8 tto each boy and Rs. 20 10 egch girl.
If tHe total amount distributed by him was

Rs. 280, the number of boys was
(A) 25 (8) 10
C) 8 (D) 15

Two coins are tossed simultaneously. The
probability of getting exactly two head is

w1 ® )2

(C) )6 (D) %

Three cubes each of side 5 cm are joined
endto end. The surface area of the resulting
solid is

(A) 15cm?

(B) 175 cm?

(C) 350 cm?

(D) none of these

Rabi crops are SOWn at the end of

(A) October (B) November

(C) December

The 2018 Nobe|
Medicine s Conferred tq
(A) Michag W, Young
(B) Tasuky Honjo

(C) Michael Rosbash
(D) Jeffrey o Hall

25.

26.

27.

28.

29,

30.

LT
sy,

fafew sfoeraemi
o T gy R ity
oy S
(A) g firg

(B) a1 ¥feemy

(C) W ¥y foqy

(D) Tt ade

S TSR A Pt e 3, 00
magmﬁzmélm@%ﬁ
F T, 10@??@&@@3' 203@5
ﬁﬁ@m@%@azac% l
AShH h Ty ,
(A) 25 (B) '10

(€ 8 D) 15
TRy
(A) 1 ® %

© % ® Y
RREUEEE LR e

R TR S ey
(A) 15 cm?

(B) 175 cm?

(C) 350 cm2

(D) 378 ¥ = 7

i 1w ERCGRE
STt 21

(A) TR (B) s

(C) fegerx (D) St
Tl an aftueft & & 1 2018 F AT
TR =t fear e |

(A) HTEhT S5cq . IM

(B) T Troi

(C) firdre Tmw

(D) <% . ga
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31.
U
1l
o
2
i
2
“\
E\ 32.
1
Al
@
33.
34.

35.

36.

It p* = 6p + 7 is divided by p — 1, the | 3. afe p2 — 6p + 7 p — 1 A R fran s
remainder will be ?, @ 3w B
(A) Positive (A) YT
(B) Zero (B) A
(C) Negative (C) =HUTeHR
(D) None of these (D) = & g T
The most important distinguished feature | 32, TR % dd w@eq 6 aiftes fr 2ik
of the Federal form of government is wEeaqut ferdie 2
(A) I-Sita\t/ing Supreme Court in each (A) e T H gaT=y =T
. ate & .
(B) Having two citizenship, one at the (B) & AmTiERand B, T ¥z T&EHR 3R
Central Gowvt. and another at the State T T 9 i
Govt. : e T = 3
(C) Distribution of executive powers ©) :waﬁ{ i ﬂ'? Rl
equally between Centre and States
(D) State govemments vested with the power (D) TS &R # Oy AT ThHIHS T=)
of seceding from the union or federal JUF B A wifr 2 ‘é
IL :a' means‘ ‘-'|-’. ‘b’ means‘—, ‘¢’ means ‘+' and 33. I o e “+',D'HT AP =, 'C T a7y o
means 'x" then, 25c5d 8 b10 a15 = 3R ‘o 7 ayef XA 25c54d8 b10a15<
(A) 55 (B) 40 (A) 55 (B) 40
(©) 44 ©) 4s () 44 © a5 ' . Y
S years ago, father's age was 5 times as | :
old as his son and after 3 years, he wil| be ¥ ?ﬁaigﬁmwﬁ T S 5
3 times as old as his son. Fing the present ’ e ﬁ ! & =l A H
age of son. 33“"?‘7“'33@(3‘@1?31&@%?
(A) 10 years (A) 109
(B) 13years (B) 1334
(C) 12years ©C) 129§
(D) None of these D) TR
If2is a zero of ' =42
i pqunomlal P(X)= 43(z +2x—5a, | 35, 2 TR P(X) = 452 + 2x — 5a Tl T Y4
en value of 3 is 2 H’fa‘ﬂﬂn% .
) -4 @ s D) -4
The Haryana Municipality (Amendment) Bill | 36, =RaTOTTRmT (o) e
Was passed during the year - . T & S e R
(A) 2014 (B) 2015 - (A) 2014 . (B) 2015
(C) 2016 (D) 2017 (C) 2016 (D), 2017

4/2018 (1) (M10)
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g ents -
7. Consider the followind statem50 ars of
g senté ced 10 in
1. He wa any years
imprison
Andaman carrie
He was stud" ngl:tr;vitles her
t revolutio ryd oM dan Lal
iself with Le:j Cra:‘ly '
hingra, Ma
Elel SQEt up & rga tion calle
AbhinaVv Bhara socié
The personality referred here 1S
(A) Rash gihari Bos€
v.D. Savarkar
(C) Lala Lajpath Roy
(D) Ram Prasad Bismil
ag, Findtheterm whichis different from the other
three among the four options given below.
(C) Pencil (D) Cook
- gfs‘;it;sgwar temple is situated in the
(A) Bhiwani (B) Jind
(C) Jajjar (D) Panipat
40. B ;
ugyals, a unique type of vegetation found

41.

i(rll\;ﬁrgzﬁsrﬁ:riz:::slands in the Hi

(B) rSet?r:;er grasslands i i

p gLTna:;aS s in the Sikkim
Himalaya%raSS|ands inthe Arunachal

(

mountains

The solutio
ns of syste
ax + by —a+ b =0 an;nb())(f eqUations

a;e @y-a-b=0
(A) x=a+b,y=q_p

(B) X:—a+b'y_

(C) X=1,y=-1 ==a-=ph

(D) X:O.y=0

a7.

38.

39.

40.

41.

[
. qTT%Wllﬂmn|||||||||||n|u||u|m||
. 38 50 T A &= 5
e Aagai )
2, & Bﬁ;}nqaﬂgi ey
ﬁwﬁ—m’rﬁmfﬁm? ikl
3. 38 T W3 591 fogy
FHTS e | S g

(A) T FET S

(B) <. Sl FTEEH

(C) T TSI T |

(o) T v it |
|

3 e e IR ferehedi &
afme? R el

(p) (B) FmTw

() ufr (D) g

SaTar A o g

() frart (B) a"ijﬁml
(C) #ssH (D) 9w
g, femea | it
meﬁ%‘ﬁWWww

(A) Tewrera &3 § Tfiey a1 & fem
?ﬁmhmmmmmm;
(C) srvraw femrer o ey wrg % dem
(D) i werfeat # wvey v & Bem

THfsRon
ax+by-a+b=03MWb |
MEL - Xx—ay- |

(A) x=
=a+b v=
®) yY=a-b

(C) ~x
M X=1y=
(R 2 h3 fadd Jabil

Xi=ym
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42. Select the correct statement from the
following.

(A) Heterotrophs survival depends directly
or indirectly on autotrophs.

(B) Carbohydrates are stored in the form
of glycogen in plants.

(C) The process of acquiring oxygen from

outside and use it in breaking down

of food source for cellular needs is

photosynthesis.

The complex substances are broken

down into simpler ones for the growth

of the body using biocatalysts called

lipids.

(D)

43. Which of the following is incorrect '7

(A) 1935 Government of Indlg A_ct
provided for establishing Provincial
Public Service Commission
1909 Government of India Act provided
for separate electorate to Muslims
1919 Governmentof India Actintroduced
for the first time bicameralism and
direct elections in the country '

1947 Independence of India Act provided
fortheinduction of Indiainto
group of nations (Commonwealth)

®
©

(D)

44. InHaryana, the district which gets the lowest
rainfall is

(A) Faridabad

(B) Rohtak
(C) Sirsa

(D) Hisar

| 45. Find the missing term (?) from th

for MQ, 2, AE, HL, 0s, vz.

(A)' X (B) sSx

C) T2 D) TY

46. The ancient epic of Haryana is
(A) Rigveda
(B) Bhagavag Gita
(©) Yajurveds'
(D) Osho

© options

P

4/2018 (1) (M10)
At # w& Faw g )

5y i e i Y e
Sfre g & fog fsi & € :

(B) wrETEESe Nl F Teghee F w9 H
veTiE gd 21 .

(C) TeX | IFHISE A4 3T AR
sreraast & forg A wEt
YT 2| -

(D) wifeet yatel TR 6 g = ot wer v
3 fifie e ASESh 6 wEE §
LISESIGRS

43. f=fcRiga # ¥ RE-T1 3@ B 7

(A) 1935 T T it icfva whves
HET ST Al T B Heiferg 2

(B) 1909 1 1w Tk afform qfdem
< o7 g2 e 1 e e @

(C) 1919 %t “na warm el & 3y 3
S SR e I Y@ T
R 6 '

(B) 1947 W@ %Y wagaa Atufry 3
g‘ﬁlﬁ?ﬂ%ﬁﬁ%%ﬁﬂmﬁmﬁ

44, %Mmﬁ%ﬁmﬁ%mﬁmaﬁméﬁ%
(A) wliemr

(B) Ugaw

C) T (D) f&ar

45, xg, % AE, HL, 08, vz % < 9T (?) I
l

(A) TX (B) SX

Cy T2* (D) TY
46, mmwm%

(A) =

(B) waq iy

C) ag¥e

(D) =Trsm



or 2017-18 was

ce | inister (B) Chief Minister
(D) Home Minister

tatch the following with their pairs.

1. Blanket of air which
surrounds the earth

. Domain of water

. Gravitational force of

the earth

4. Our surroundings

5. Narrow zone where

land, water and air

interact

6. Relation between the

. organisms and their

) T mﬁ’ﬂ{ﬂ
D) #m. 3. oy, =i
?‘jf%r%aﬁaaaa-m@m oft ey
(A) 1,1,2,2,3,3, .

(B) 0.3,0.33,0.333, ...

48.

o 334
(D) V3,V12,V27, Jas,...
49. 2017-18 FiU BT FH TI™FE
mq‘gq{r@ﬂ?ﬂl
(A) fermift (B) Fewt
(C) weEA (D) TEwHt
50. frfeRad i 37 gt & firemsy
. SaHed 1. et TERa ST
. I T S
Il. SrgHsd 2. ST &1 S
ERLES 3. 9=t &1 Tty aa
IV. F@feROr - 4. BHR IR 3R
‘ 5. TR &, Tl off, et
3 arg
Fd 8
6. Sfial 3R IR IR 3R
& o9 gay
I e I :
(A) -2 1I-5 NI-3 IV-6
B) I-5 l1-6 Il -1 V-4
C) I-1 ll-4 mM-2 V-3
D) I-5 =1 W-2 V-4
51, wTor Mgt &1 ot 2l

(A) H&H T UaT ST
(B) ‘Hﬁmqmm

(C) WTE T UaT &7
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2. Find the mlssmg number in the sequence
5% 4 9,16,25,36,7

(A) 47
(C) 72

(B) 49
(D) None of these

Prithviraj Raso was written by
(A) Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda

53.

What are the values of y if the distance
between the points (2, y) and (- 4, 3)is 10 ?

(A) 11and-5 (B) 2and3
(C) Oand 1 (D) None of these

. Kavi Maldevwasa - __poet
of Haryana.

(A) Sanskrit (B) English
(C) Urdu (D) Hindi

The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

A qenain number is 4 times the sum of the
digits. If 18 is added to the number, the digits
get interchanged. Then the number is

(A) 42 = (B) 24

(C) 36 i N (D) None of these

58. The non-metal WhIChI iu1d ature is

W
A — g
;- (C) uLlu“ ' D) Ch

@ o mi Gl

6 éiﬂ“ﬁ}sl-.?'“ /ely. |

nﬁremmj s circumfere

NE '@’lﬂ‘@'blr’"" C
‘?lf‘x‘) 19 cm
C) 16 cm

\\Vv)
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61. An image formed by 2 P

always ' o
(A) lllusionary imag

(B) Virtual image
(C) Real imagé

(D) Reflection image
th of that
If August 27" was Monday , then 14" of

month was on
(A) Monday
(C) Wednesday

62.
(B) Tuesday
(D) Friday

63. The state bird of Haryana is

(A) Peacock (B) Parrot '
(C) Pigeon (D) Black Francolin

e governor of Haryana is appointed by
(A) Prime Minister (B) President
(C) Chief Minister ., (D) People

y

65. Goddess Bhawani Amba temple is in
(A) Rohtak District (B) Manipur District
(C) Ambala District (D) Gurgaon District

66. Haryana is called as the
(A) Land of temples
(B) Land of flowers
(C) Breadbasket of India
(D) Pious state

67. Star monument is the Samadhi of
(A) Tarachandji Maharaj
(B) Narayana Swami
(C) Shivaji
(D) Govindh Singh

68.  Which type of sail heci . ..
holdingtzgpagiftys c.>|l having highest water
(A) Sandy soil
(B) Clay soil
(C) Loamy soij

(D) Mixture of sand and loam

-12.




691 7;’"\4:‘- ;?-‘{zr)‘L °)
holiday.
#
" ‘f”!m;

a” Jw
m_ﬂl g
(D) after

. it rained a lot, we €

70. 5
holiday.
(A) Although
(B) Though
(C) Even though
(D) OIEUQ‘L (:} Wi z 0 -
¢ A , slephone
A - : \
(D) by

4 |’ ui
moose the correct form of the ver
! '_'-

go | Choose the correct meaning of the underlined i
from the given options.

A
to hospital ?
77. He is now a _gentleman at large living as

(A) haa you to
best as he can.

1. What was wrong with you %

(A) Dominating

)] dldyo have to
(C) mustyou 4
g (B) Atliberty
' (C) A person without any serious occupation

(D) Ordinary and undistinguished

A sensible man, as a rule, cares much for

public opinion.
(A) Whatever may be the oost

(B) Whatever may happen
(G) In reality

f' Q) @r fereg |
: (D) Usually

3
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TRE AR foedt s
79,
9 85.
%ma‘ﬁ an
N g ¥) 58
2. 3) 86
2 A 3) 39 86.
i i 3 32
(M) 1-31 2-3a1m 3-% 4-3
(B) 1—3“ 2_3:{ 3_§ 4_3
(C) 1—3 2_-§ 3_3 4—3
D) 1-% o2_a1 3-31 4-3
80. ﬂﬁﬁ’mmmm% 87.
(A) wrefat B) wef
(©) witg (@) e
81. THIS &I = THIEHT Tg hIHH] T & ?
(C) EgHfe ® B
82. W e el ¥ o ¥ WA f e | 88
Wqﬁ'awa&ﬁq,
(A) WTEETaF G, FHHT, T,
T
= , R, T, TeHae 89.
(©) S W, Fatww, e,
T
(D) mm’ m’ . ’
Tohere wftfer
s (B) W&
S S (D) e 90.
84. fAfRifias & ‘arvar o werteaeh wreq 7T 2
® = @) |
© @ (D) a5

(R

(A) ¥
©) 3

z?a‘fa@fifﬁﬁaam'gzﬁiaﬁmﬁ%

(B) ®eT =<l TRl
(€) ©IS el T S|
(D) ©re & & =t i

g + ATd =ﬁmm®%?
(A) Tu EfY
(C) < dfy

amqmm% qmﬁaﬂﬁm o 2§ g, T8



